

## Multiply by $10^{-2}$ (F)

Find each product.

$$45 \times 10^{-2} =$$

$$67 \times 10^{-2} =$$

$$96 \times 10^{-2} =$$

$$79 \times 10^{-2} =$$

$$64 \times 10^{-2} =$$

$$71 \times 10^{-2} =$$

$$27 \times 10^{-2} =$$

$$11 \times 10^{-2} =$$

$$11 \times 10^{-2} =$$

$$55 \times 10^{-2} =$$

$$30 \times 10^{-2} =$$

$$76 \times 10^{-2} =$$

$$62 \times 10^{-2} =$$

$$51 \times 10^{-2} =$$

$$74 \times 10^{-2} =$$

$$94 \times 10^{-2} =$$

$$50 \times 10^{-2} =$$

$$90 \times 10^{-2} =$$

$$60 \times 10^{-2} =$$

$$86 \times 10^{-2} =$$